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AL 7] 1067 &F  #f EHL (BiHE-£)IE)36m79
50 3] 167 A 5% &HH2 B¥EE-A)IR)35m30
6[ 4] 5841F A K HEHIL Cllexkia - A)IlE) 33m18
70 2] 24975 3% 68 £ BRH2 (F)I&EE-A)I1E) 27m41
8[ 1] 252/% AHL (B )lEEE-A)I1E) 22m40

EREF LYk RE

10 1] 1908 % 5 FHL Gillfs 211 20m57

2[ 2] 1894 1 1 % 713 (FJIHAA)I1) 16m71

30 3] 1119 A6 7 AEHL Gl 7)) 16m24

41 4) 107383 42 7 92 (i - 7)1 72) 15m34
FFEBEF DoAY v o RA0— RE
10 1] 302001 A 98 4513 e )11 8) 31m22

2 2] 258 A A H5T1 (LA FIIE) 1709
RRELF DN vy A0— RE

1[0 1] 351 e 72 )3 (REH- Al 1R) 38m52

4

11



E5EtERIUGHES INEEOQVNAURTEEDFER  10A98
BFav/MUEA
e | ro-| B 4 moOm gsomH(E) | B& | & | 8K | ARES
3 | 301 |EFH R AL AC 1543 |+0.4| 705 | 1m10 | 803 | 1508
2 | 517 | KB piR BEBAC 1395 |+04| 958 | 1m20 | 919 | 1877
4 | 308 | REE = de AC 19.15 |+0.4| 100 | 1m05 | 746 | 846
1 | 516 | KiE &= BEBAC 1271 |[+0.4|1170| 1m38 | 1126| 2296
BFoL (VKB
e |- B 4 moOR EEHE | 84| B | B4 | aHEA
2 2| LT LR #weTa=7|] 3m23 |+09| 678 | 24m97| 567 | 1245
Alf0B A HEECa=7|| NM 50 | NM | 50 | Xi5
3 302(#H0 #E NASPO 3m95 [+1.9] 879 | NM | 50 929
4lIhR &K WET1=7|| NM 50 | NM | 50 | Xi5
5(f1@ — & HEECa=7|| NM 50 | NM | 50 | Xi5
1 206|828 HFA R JAC 3m87 |+0.1| 857 |42m72| 928 | 1785
ZFaVIRAVRA
e | ron-| B 4 moOm gomH(E) | @& | £&% | @& | AEtEA
2 9 |EH ™ wECa=7 || 1541 |+04| 708 | 1m20 | 919 | 1627
1 10 |#E F5 EBCa=7|| 1524 |+04| 737 | 1m20 | 919 | 1656
LFaAVINUFB
W | ron-| B 4 moOR EEME) | 8& | BB | B4 | AHEA
5 | 12 |EE W& wWeTa=7|| 2m89 [+0.1| 582 | 17m56| 417 | 999
1 | 335 [KRT#HEIK e AC 3m25 |+1.1| 683 | 22m25| 512 | 1195
211 4Ll &30 M JAC NM 50 | NM [ 50 Ri5
4 | 13 |KARHZE wWeTa=7|| 2m78 [+0.3| 552 | 22m90| 525 | 1077
213 |/hL #EE M#JIAC NM 50 | NM [ 50 Ri5
2 | 14 |ERBEH weETa=7|| 2m41 |+0.1| 448 | 33m68 | 744 | 1192
3 8 |#Eam BBt EBCa=7|| 3mad4 |+0.1| 736 | 14m32| 351 | 1087




